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Tc8 die

Dame angegriffen. Wieso war das
[ 1...Ka8 2.Dxc8+! Lxc8 3.Th8# ]
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1.e4 e5 2.5f3 Sc6 3.Lb5 d5 4.Sc3

Sf6 5.5xe5 dxe4

Weil3 am Zuge.
6.Sxc6 bxc6 7.Lxc6+ Ld7 8.Lxa8

bxab
[ 1...Txb3 2.a7 und der Bauer ist

nicht zu halten. ]

Was ist die beste Fortsetzung flr Weil3
2.Tb6+ Ke7 3.Txf6! Txd3+

am Zuge?
1.bxaé!
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Dxa8 9.0-0 Lc8 10.Tel Lc5 11.d3
Lb7 12.Df3 e3 13.Txe3+ Lxe3
14.Dxe3+ Kf8 15.Dc5+ Kg8 16.Le3
Sd7 17.Dxa7 Dc8 18.Tel h5 19.Lf4
Sc5 20.Dxc5 La8 21.Dxc7 Dab
22.Db8+ Kh7 23.Te8 Txe8 24.Dxe8
Db7 25.f3 Db6+ 26.Le3 Dxb?2
27.Ld4 Lb7 28.De5 Kh8 29.Dxg7#
1-0




